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QUESTION 1

Regarding the failure analysis process of the software module in the U1900 system, which statement is correct ()
(multiple choice)

A. In the SETUP message received by the CCM module, FROM (USAM) represents the caller. The calling party is an
internal user of U1900

B. In the INFORMATION message received by the CCM module, you can view the calling and called number of the call,
calling authority, and called location information.

C. If the call fails, you can quickly locate the cause of the error by checking the "Release" keyword in the
INFORMATION message received by the CCM module

D. If the call fails, you can quickly find the cause of the error by checking the release reason code ucCause contained in
the INFORMATION message received by the CCM module

Correct Answer: ABCD

QUESTION 2

There are two terminals, T1 and T2, both registered to the same GK. When T1 calls T2 by number, what is wrong with
the following statement? () Multiple choice

A. The ACF message received by T1 contains the GK call signaling channel transmission address
B. The ACF message received by T1 contains the call signaling channel transmission address of T2
C. After T2 receives the Setup message, it sends an ARQ message to GK

D. After T2 receives the Setup message, it sends an ARQ message to T1

Correct Answer: AD

QUESTION 3

In video systems, image processing uses RGB color space. () Right or Wrong
A. Right

B. Wrong

Correct Answer: B

QUESTION 4
Regarding the Fusion Conference 3.0 solution, which of the following statements is correct () (single choice)

A. The account to log in to the eMP system needs to be created in the eMP system
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B. The eMP system accesses the BMU system to obtain UC system address book information
C. The eMP system queries the address book information of the video conferencing system by accessing eUA
D. eSpace Web Query the address book information of the video conferencing system by accessing eUA

Correct Answer: C

QUESTION 5

Built-in MCU terminal plus RSE network, without the help of SMC, the functions that can be implemented independently
on the terminal do not include () (single choice)

A. Point-to-point recording meeting
B. Three-party live conference

C. Point-to-point live conference

D. Recording resource management

Correct Answer: D
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